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01 | was resting on my couch after a long day.

02 Helping needy people all day is not easy, but it gives me joy.

03 Suddenly, the terrible noise from the apartment above started again.

04 | had heard that some thoughtless, inconsiderate mothers let their
children ride bicycles and skateboards inside their homes these days,
and | imagined what was going on up there.

05 | picked up the intercom to call the apartment manager again.

06 “May | help you?” he said.

07 His voice seemed impatient.

08 “Is this about the noise upstairs again?

09 Do you want me to tell her to be quiet?”

10 | hung up and waited.

11 In a moment, my intercom rang, and the apartment manager said, “The
woman upstairs says she’s being very careful about the noise, and she
says she’s sorry.”

12 He hung up.

13 Sorry? Wasn’t the annoying sound the same as before, and why was
she being so inconsiderate?

14 Since | was determined to end the matter once and for all,
| grabbed the intercom again and asked him to connect me to
Apartment 909.

15 After many rings, a young woman'’s voice answered.

16 | spoke strongly, “Listen, | live downstairs — unfortunately right below
you —and I've had just about enough of your rudeness.

17 There are do’s and don’ts when we live in an apartment, aren’t there?

18 The noise from your apartment has pushed me to the point where I'm
almost ill.”

19 “Look,” responded the young woman, “if | had had the ability myself, I'd
have been quieter.

20 Can’t | just move around normally in my own home?

21 You’ve gone way too far with this, and I’'m becoming nervous since you

complain almost every day.”

22 Her voice became desperate.

23 “What do you want me to do?”

24 | stood up a little straighter, and | held the intercom even more tightly.

25 | made my voice calm and polite.

26 “| want what any reasonable person would want,” | said.

27 “For you to be understanding and considerate.

28 | wish you’d been quieter, that’s all.”

29 | firmly put the phone down.

30 How shameless!

31 | couldn’t stop thinking about her rudeness.

32 Yet the wisdom that comes with age told me that the angrier | became,
the more | needed to calm myself down and act carefully.

33 Suddenly, | remembered a pair of slippers that | had received as a
present but had not used.

34 A present can be a good way to communicate.

35 The slippers could represent my suffering and at the same time serve
as a constant reminder to soften the sound of her steps.

36 I'd teach her in this quiet way how to live with others as a considerate
neighbor.

37 | placed the slippers in an almost new gift bag and added a small, used
ribbon.

38 Then | walked upstairs and rang the bell.

39 No one answered.

40 | could hear someone inside, so | waited.

41 With her cooperation, I'd have already delivered the gift along with a
kind greeting such as, “We’re neighbors, but we haven’t exchanged
hellos vet ....”

42 But now | was being made to wait.

43 Finally, the noise became louder as it approached the door.

44 The lock turned once halfway, then again completely, and the door
slowly opened.

45 A young lady looked up at me from the doorway.

46 She was seated in a big, metal wheelchair.

47 Far from angry, her face looked tired and worn, and | hid the slippers
behind me as quickly and naturally as | could.

48 “Actually, | was just about to replace the wheels.

49 I'd have done it earlier if it hadn’t taken so long to order new ones
online.

50 Anyway, I'm sorry, and | can’t even offer you some tea because my
helperisn’t here right now.”

51 My eyes ran away from her face and fell instead on her lap and then
her legs resting under a colorful blanket.

52 The noise had ended, and now there was only silence.

53 My slippers felt heavy in the cheap bag as | looked back at her face and
tried to find something to say.
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01 (A) A metaphor is a figure of speech in which a comparison is

made between two different things.
(B) Some people think of metaphors as just the sweet stuff of
songs and poems.
02 whereas an early bird is someone who loves working in the

morning

03©—it 04 (1) @ — upset (2) @ — conquer

05 even though you understand all the words that make up the
metaphor

06 ®—so 07 A0E AIESh= MRS

08 We recycle bottles because we want to protect the environment.
09 many metaphors are almost universal
10 What do you think | should do before taking a Spanish class?
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01 Have you ever wondered how singers and poets express so much with

p.114~118

so few words?

02 Consider, for example, the lyrics below.

03 They are from a famous song by the American group, Gym Class
Heroes.

04 My heart’s a stereo.

05 It beats for you, so listen close.

06 Hear my thoughts in every note.

07 Make me your radio,

08 And turn me up when you feel low.

09 The lyricist wishes that his heart were a stereo and that he himself
were a radio.

10 Everybody knows that these wishes cannot come true.

11 However, the lyrics sound natural, don’t they?

12 The comparisons are made to convey feelings of love in a more concise
but memorable way.
13 In other words, the metaphors of “a stereo” and “a radio” are used to
express the singer’s intense feelings using as few words as possible.
14 A metaphor is a figure of speech in which a comparison is made
between two different things.

15 The word metaphor itself comes from a Greek word meaning “to carry
across.”

16 Metaphors carry meaning from one word, image, or idea to another.

17 In the “stereo” metaphor, for example, the stereo’s ability to recreate
the beat of music is compared to the heartbeat of someone in love.

18 Some people think of metaphors as just the sweet stuff of songs and
poems.

19 In fact, however, we use metaphors every day.

20 They are baked right into our language.

21 Dr. Gregory House from the TV series House M.D. says metaphorically, “I'm
a night owl. Wilson’s an early bird.”

22 A night owl is someone who loves working late at night, whereas an
early bird is someone who loves working in the morning.

23 There are thousands of metaphors native speakers of English use in
everyday situations.

24 You may not know as many as native speakers.

25 Plus, you may find some of them difficult to understand.

26 Consider the examples below.

27 Life is a roller coaster.

28 The slide on the playground was a hot stove.

29 Her angry words were bullets to him.

30 My dad always says to me, “You're the apple of my eye.”

31 Think carefully about the comparisons made and what you already
know about the world.

32 Then you may be able to understand what the metaphors mean.

33 If you know that a roller coaster goes up and down, you can guess that
life also has lots of ups and downs.

34 However, you may not always be able to guess correctly.

35 For instance, you may fail to see what “the apple of my eye” means
even though you understand all the words that make up the metaphor.

36 Learners of English should not despair.

37 Many metaphors are almost universal.

38 In many cultures, for example, life is often compared to a journey.

39 Since life is regarded as a purposeful journey, we think of it as having
departures, paths, and destinations.

40 The young can “get off to a good start” in life.

41 The aged regard themselves as being “at the end of the road.”

42 In an old Korean popular song, the lyrics begin with, “Life is a
wanderer’s path. Where did | come from? Where am | going?”

43 This clearly shows that life as a journey is not a metaphor unique to
English.

44 Of course, there are cultural differences in metaphors.

45 These can pose a learning problem for you.

46 Koreans call something easy “cold gruel” whereas native speakers of
English call it “a piece of cake.”

47 An old person with an old way of thinking may be called “a dinosaur”
in English.

48 The same word can mean “a very big person” in Korean.

49 If you call a man “a chicken” in America, he will be extremely upset
because it means “a coward.”

50 On the other hand, a chicken may refer to an inexperienced person in
Korean.

51 In As You Like It William Shakespeare says, “All the world’s a stage,
and all the men and women merely players.”

52 We cannot conquer the stage full of metaphors, but we do not need to
have stage fright.

53 We can become better players if we are ready to learn as much as we
can.
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01 | was determined to end the matter once and for all

02 if | had had the ability myself, I'd have been quieter

03 had been quieter

04 (A) unfortunate (B) (e)tiquette (C) complaint

05 make your voice calm and polite 06 desperate

07 ® — had received, @ — serve, ® — to wait

08 the angrier | become, the more | need to calm myself down and
act carefully

09 If she had cooperated

10 shameless, rude, inconsiderate

11 It was because she wanted to teach the young woman (upstairs)
in a quiet way how to live with others as a considerate neighbor.

12 (A) suffered (B) remind (C) softening

14 @ — ride, ® — impatient

15 The cause of the conflict between the writer and the woman

13 wisdom

upstairs is the terrible noise from the apartment above.
16 (A) needy (B) called (C) quiet
18 ® seated ® worn © to replace @ resting

17 a big, metal wheelchair

19 (A) do it earlier (B) it took so long to order new ones online
20 @ — if, @ — what, @ — saying, ® — do

21 in order not to hurt his wife with harsh words

22 (A) exhausted (B) (cJomplained (C) (u)derstanding

23 that is equally accessible to everyone

24 @ — has been implemented, @ — to enjoy, ® — destinations
25 (A) see (B) hear
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01 ® — how, @ — turn me up, ® — are made

02 are used to express the singer’s intense feelings using as few
words as possible

03 the effectiveness of metaphors in expressing emotions

04 a figure of speech where a comparison is made between two
different things

05 metaphorically

06 @ the heartbeat of someone in love ® working at night
© works in the morning

07 @ comparing @ (cJommon ® (c)onversation

08 life also has lots of ups and downs

09 (a) the apple of my eye (b) a hot stove (c) bullets

0 (A) difficulty (B) guessing

11 The aged regard themselves as being “at the end of the road.”

12 5t=2| e thE7tL 7INUIME Q1S ofgl(Ltu] Z)ofl Hlwst A

13 (A) journey (B) life (C) universal (D) unique

14 (1) an inexperienced person (2) a coward

15 239 o|0|E Ct OfahE ~= GUXITH 2301 CHohM g He:

16 if we are ready to learn as much as we can

= |l

17 (A) cold gruel (B) a very big person (C) a piece of cake
(D) an old person with an old way of thinking
18 cultural
19 Metaphors reflect cultural difference between nations.
21 (p)ossible
22 this personal language is so unique that experts can identify the

20 @ learning @ learn

writer of documents within a group of suspects

23 investigation

24 Diverse language features of individuals may be used to indicate
their identity.

25 (A) Analyzing (B) (p)referred
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10 | didn’t get that. Would you say that again, please?
11 even though we still live in the same house

12@
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asked him to buy some onions.
(2) Even though[Though, Although] my sister finished her
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15 (1) The tomato spaghetti is as delicious as the Chicago pizza.
(2) The black wallet is as expensive as the brown wallet.
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17 (1) much money (2) many stamps (3) many photos
18 (1) whereas (2) Since (3) although 190G
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29 Their analysis often leads to the arrest of the guilty suspect.
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